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201 Zet2d] 9,620 8,880 740
= 2,886 2,664 222
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T 0 7,000 AT7,000
308 XtXIEMSO0IE 0 20,000 /20,000
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i 0 84,000 284,000
Oo#=cdY =5 s N 0 50,000 250,000
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Oor2asH XNJAHE 4| 83,574 86,574 A3,000
—ANR2F 2,250,000 1« 12&8 27,000 30,000 23,000
201 ZEH2 & 49,260 43,260 6,000
01 AFR2t2ltl 27,820 39,820 A 12,000




2A:

X XH -
o=

2 Atel Z Xl ot

LA HE

ol AlRIEERES |4 (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",

Oll==ssH 29 24,500 36,500 A12,000

03 HAH= S I 20,000 2,000 18,000

OogZz i=ssH =8 &0t 10,000 0 10,000

ootseld f¥3s 6,000 0 6,000

OOt=SSHAZHE S A2E 2,000 0 2,000

301 L2z 16,000 4,000 12,000

1 AMHIXIE S 16,000 4,000 12,000

Oll=2sSH 2208 29 12,000 0 12,000

307 2IZtolI& 0 18,000 18,000

02 QB MAIHE X 0 18,000 18,000

OgEz i=ssH =8 &0t 0 10,000 10,000

Obt=eld A3ds 0 6,000 26,000

Olt=SSHAIZHE A AE 0 2,000 22,000

Xopts SSH OIEXAE 29 10,000 10,000 0

201 23| 200 0 200

01 At 2teltl 200 0 200

OOSAlEE AHWS 200 0 200

301 LEEX S 9,800 10,000 A200

11 SAMHIXIE 3 800 1,000 A200

OOFSAlaeE AHMuS 800 1,000 A200

SE MIEBM AHIA S5 JlEtxd 126,000 90,000 36,000

= 100,800 72,000 28,800

= 7,560 5,400 2,160

= 17,640 12,600 5,040

307 QIZtol& 126,000 90,000 36,000

= 100,800 72,000 28,800

< 7,560 5,400 2,160

z 17,640 12,600 5,040

02 QZHEMAIHE X 126,000 90,000 36,000

Os& ARIHBH MEIA S5 JIgtxd 126,000 90,000 36,000

= 100,800 72,000 28,800

< 7,560 5,400 2,160

i 17,640 12,600 5,040

Ol=eSSH 2sSNA(E== =5 3SH) 41,000 0 41,000

= 12,300 0 12,300

= 28,700 0 28,700

307 2IZtol& 41,000 0 41,000

= 12,300 0 12,300

[ 28,700 0 28,700

02 QIZHEMAIHE X 41,000 0 41,000

OltsssHESNA(d==d=53SH) 41,000 0 41,000

< 12,300 0 12,300




2A:
PSR
ool

EIpNEIE=D(in
UXI2I A é%
MNBIHARER sS4

SA - BB - SRA(3) - MRAY - BES (TPNET ol E o timE=FT
| = 28,700 0 28,700
DIS2SH SSX(M*, 20K 30,000 0 30,000
= 9,000 0 9,000
2 21,000 0 21,000
307 eI2t0| & 30,000 0 30,000
= 9,000 0 9,000
2 21,000 0 21,000
(2 DIFAA AR T 30,000 0 30,000
ODISZSHE ST (M4, 20H) 30,000 0 30,000
= 9,000 0 9,000
2 21,000 0 21,000
DIS2SH ZSXA(K) 100,000 0 100,000
= 30,000 0 30,000
2 70,000 0 70,000
307 DIt 100,000 0 100,000
= 30,000 0 30,000
2 70,000 0 70,000
(2 DIFAA AR T 100,000 0 100,000
OlEBSHESNA (W) 100,000 0 100,000
= 30,000 0 30,000
2 70,000 0 70,000
NATHA 3L XI2IAI 28X (01X H) 9,100 0 9,100
307 BI2+0| 9,100 0 9,100
08 OIXIEX 2 9,100 0 9,100
OXI o Xarsl XA 22 (01X H) 9,100 0 9,100
ABT AEIZHIIY XHSSHALY 22,215 0 22,215
2 15,551 0 15,551
= 1,999 0 1,999
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2 9,800 0 9,800
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& 10,000 0 10,000
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—6= 12,5312 %4G*10A1 2t 128 6,015 5,915 100
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